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1. If A and B are subsets of a sct X, 5. In an examination out of 100
then what is (A~ ([X - B))w B egual students, 75 passed in English,
to? . . 60 passed in Mathematics and

45 passed in both English and
fa] AuB Mamem.g.;ics. What-is the number
of students passed in exactly one of
T - the two subjects?
o) A faj 45
fd] B b 60
fe} 75

2. The total number of subsets of a
finite set A has 56 more elements {d} 90
than the total number of subsets of
another finite set B. What is the 6. Let

| gumber of demanta in the st A2 R={x|xe N, x is a multiple of 3

and ¥ < 100)
fa] 3
| & S=lx|xe N, xis a multiple af 5
. fe) and x = 100}
fe) 7 What is the number of elements in
(@) 8 {(RxS)m[Sx R}?
fa) 36
3. What is the smallest natural ) 33
number n such that n! is divisible
by 9907 fc} 20
fa) 9 fdj ©
B 11 7. HA={a, b, dand R={ia, a), (a. b,
u'- ';*: i.hl. b]'!- ":'s ﬂl {G, ‘ﬂ]‘ is a
fe) 33 binary relation on A, then which
(d ©9 one of the follawing is correct?
(@) K is reflexive and symmetric,
4. Which one of the following is correct? but not transitive
r {b} R is reflexive and transitive,
Gl o but net symmetric
(b} Ax(B-C)=[AxB)-{AxC) fof R is reflexive, but neither
{6 AR{BUC)={ARBlUC symmetric nor transitive,

fd) R iz reflexive, symmetric and

{d) AuBnCl={AuBnC transitive

O-0OEBA-J-N/1A 2




1. aft sg=m X % Ireg=m A o B E, W@
(AniX-Bj)uB % g9 =0 27

(@ AUB
b} AnB
fe) A
gl B

2. s wifm a=m A ¥ IvegsEt R e
e % gt witfe W= B % Sy
+ Fo den ¥ 56 wwm wvw §)
A= A % Sl B e = e

fa)
iy
el
fd)

@ = & &

3. wE0 o W ol wEn n FR- Rl
& 990 g n1 v 87

fa} 9
&)
o) 33

11

d) 99

4. frafafaa # 3 F-m o= o &7
fa} Ax[(B-C)={A-H={A-0C)
" fb] Ax{B-C)=(AxB)-{AxC)
fe} An[BuC)={AnBjuC

(d} AU{BAC)={AuwB)~AC

O-0OEBA=J-N/1A
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6. wF witen § 100 Ryl § @ ofsh 4
adid 75, it # Tl 60 T s At
witm S & w95 Bl oA @
o T f famm A ool Renfilht 6
HE W B
fa) 45
b} 60
el 75
{d} 90

6. W
R={xjxe N x, 3% 794§
wH x £ 100
S=ix|xe N x 5% T2
™ 2 £ 1003
(RxS)niS=R) 8 wmgsl s @
=1 &7
o) 36
i) 33
ic) 20
fd} &

7. Awig b g 2 R={a, a,
(2, B) b, o, b, B), [, 9, i, g} TH
it wEy oA m R, W Gofefem d R
w0 w27

fa) R g 3w wmfie B, feg g
il

b} R EEge #i g ¥, e e
gl
fc) R w=gea g, feg 7 aufis & ade

ER-E-roses
(d) R eage, wuiim s g e

[P.T. O




B. i log gf{x+ +1logyy 5= 3, then what
is the value of x?

fa
fi)
fe)
e}

What is the value of

fa)
(L]
i
{d}

10. Which one of the following is one of
the roots of the equation

B-e)x? +fc-a)x +la~-B=0?
fa} fc—a)fib-c)
B} la-bjf{b-c)
fe} (b-clfla-H
fd] fe-a)/la- b

11. What is the value of x satisfying the
equation

fa)
b
fel

{d) o

O-0OEBA-J-N/1A

logs 9
2logg 2 - —{’E; ?

12, If a, {f are the roots of the equation

2x® 1+ n?jx+(l+n® +n¥)=0
then what is the value of a? +|§r'E'PI
fa) 2n?

&) 2nf

fej 2

{d) n*

13. The roots of Ax? + Be+C=0 are

r and s For the roots of
x2+p.x+q=ﬂ to be r? and s°,
what must be the value of p?

fa) (B® -4AC)/ A"
{6} (B? -2AC)/ A%
e} AC-B?)fA?
fdj B?-2C

14. What 1s the value of rif

P(5 rj=PlG r-1) 7
fa} 9
fbi 5
fe) 4
fdj 2

15. What is the number of words formed

from the letters of the word JOKE'
so that the vowels and consonants
altermate?

faj

b} 8

fop 12

fd) HNone of the above




8. R log,glx+ 1) +log,p 5=3%, W x ™
o= R

* fa) 199

fb) 200
fe) 299

fdl 300

g, zlngam-'—u?—gmmm e

fa] O
) 1
fe} 873
@) 16/3

10. ¥ (b-c)x? +fe-ax+la- b =0

Hogell A ® uw qm Peffea § @
wE-m 37

fa) fe-a}/ib-c)
{b} {a-bjib-c
fei [b-e)fla-h)
fd) [e-d} fla-b)

11. gl 15[“"‘]3 =225 & W

a+ X a-x
T4 5T T HE W RT
fa} a2
b af3
fel ajd

d 0

O-0EBA-J-N/1A
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12. 7 wdEm
'21-2—2{1+a::2]~,z.+{1+n2+n‘l=0
ﬂ;%u.ﬂﬁ,?ﬁuz+ﬁ2¢[mm
1

fa) 2n?

& 2n*

ol 2

{d) n?

13. A+ Bx+C=0 F 0@ r 30 s §)
x=+px+g=0aiﬁr2 3“152 B
% fow p @1 o= 70 @A wfi?
fal (B2 -4AC);A?
b (B2 -240) /A%
fe) (2AC=B?) a2
{d} B*-2¢

14. T P(5 r)=Pi6 r-1} &, @ « @ wWW
7 7
faj 9
(b} 5
fe) 4
{dy z

15, JOKE' ¥+ & 3 | fiffs o =,
ol T ain oo geen R O, A
w3

fal 4

b} &

fe} 12

fd) e B B wrf




16. If the sum of the first two terms and
the sum of the first four terms of a
geometric progression with positive
common ratio are 8 and 80
respectively, then what is the 6th
term?

fa) 88

(b} 243
&) 486
) 1458

17. What is the decimal equivalent of
(101-101),7

fa) (3-223)4
{b} {5-528),
fe} 15- 625},
felf (5-63)g
18. If x>1 and log, x, log, x, log, 16
are in GP, then what is x egual to?
fa} 9
b} 8
fe] 4
fd) 2

19. What is the term independent of x
in the expansion of

3x7% i
:1+x+213][L--.L] 5
2 3x
fa) 1/3
B 1954
() 1/4
{d] Mo such term exists in the
exXpansion

CO-0EBA-J-Nf1A

20. In a geometric progression with firat
term a and common ratio r, what is
the arithmetic mean of first five
terms?
fa) a+2r
B} ar?
fel afr® =1 fir -1

{dl alr® -1 /[5(r- 1]

21. If Zx=3+5 then what is the
value of

ox? 1922 x4 727
faj 4
b -4
fcf 8

fd} -8

3 2
22. 1T A n{ 1 4 :| then what is A{Ad) A)

egual ta?

0 107
(e [m 0|

10 O
o 10]
J [1 10
% 110 1

10 17
@@ |, 10 ]




www.sarkariresults.io

15.#&%5@1%.%?&%%, 20, 799 R a 3N wEigEE r B o o

F oo St F O ol e =m vl & it & wan ofs 9 =0 wgeR A =
am w8 o 80 %, 9 oAl ® &1
= B
fa) a+2r
28
fal P
fhj 243
& AR fel air® -1 /ir-1)
{dl 1458 ; (4} afr® -1 /18- 1]
17. (101-101), = Zufie gea 7 ¥? 21, 7R 2c=3+5 3, @
fa} {52254, 2x3 42x? =T+ 72
5.52
'Irb.ll ' 5]'1(1 Eﬂ_mw??
fe) 15-625),
4
fd} 15-65)4 5
b -4
18. A x> 1 3 log, x, logy x, log, 16 e 8
it &ef i K, @ % gem Fn R
fd} -8
faj 9
B 8 N
Eﬂ.ﬂﬁﬂ.=[3 2 B, A AlAd) A) F T
e/ 4 1 %
@ 2 g
oo
sax? 1Y "
19, 11+x+2x3}[--—-—-—] ¥ fem
h . 13 0
Iﬁﬁﬁﬁﬂi? {b) -,0 10
(@) 1/3
1 107
B 19754 - e 1,6 1
fc) 1/4
() farmm & e A o we foowm ) [10 1]
& e | 1{!_

O-0EBA-J-N/1A : T [B.T. Q.




23. What is the inverse of 28. if

. E A=[1 1:1] Bi[ 0 1]
o1 0f? 0 r) -1 0
1 00 c= cosa  sing
" |-sinx coso
[1 0 O] then which one of the following is
j@) [0 1 0 correct?
o 0 1
. J fal C=Acosa- Bsina
Eo 0] Bl C= Asina + Boosa
w o1 o fe] C=Asina - Bcosc
|1 0 O] {d] C=Acosx+ Bsina
4 o iB 26, What is the value of
€ | o -1 0 [—1+EI§]W+ -1-13)
L0 0 -1 2 2
~14+i3
0 0 -1 e o
i@ | o -1 o ;
1-i3
10 o B s
I3 2
i) -1 —ﬁhlri
24. Consider the following statements
in respect of symmetric matrices fd) 1+i/3
Aand B: 2

1. ABis symmetric.
27. Il w is an imaginary cube root of

2. A?+B? is symmetric. unity, then what is the value of the
determinant of the matrix
Which of the above statements . R

isfare correct?
14w w w7

o4 lil.'l2 i l:t.'l.2

fa) 1 only

B} 2 only i
B —2w

{c) Both 1 and 2 o ~202

jd} Neither 1 nor 2 fd) Ao’

O-0EBA-J-N/1A 8
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001 _ 25, AR
23. | o 1 0= wie s R : o 5
1 00 ‘“[ﬂ 1], g.[_l n]
F1 0 0] c=| coue sina
fm |0 1 0 ~ [-sina cosa
|0 0 1] &, 1 fasfafian o @ $w-w wF w7 87
faj C= Acoso - Bsina
00 1] fbi C=Asing + Beosa
B 10 1 0 fe} €= Asina - Beosa
1,448 fd)] C= Acosa+ Bsino
(A4 0 1] o [—1+i4§]“”+[—1-:'~4'§]w s
0| o-1 0 2 2
| 0 0 -1] T 7
(a) 143
2
o o0 -11
(@ | 0o-1 0 (b) 1-i3
-1 0 o) 2
“1-i3
fci 5
) 1+i3
24, AN WE A ot B & wed # 2
Fratafigs st v fEmm $ife
g, SN 27, 4t wwrd = sfsPm TvE o & @
M=
2. A? 4+ B? uufim B ;
T+ @ m
T & WA T T l+a? @ o
W+t © W
FAd 1
@ i W wE W T
(b EE 2 ja) ©
b -2
) 1 3 23n ) -2u?
fd) "1 afado {d) 30°

O-OEBA-J-N/1A o [P.T. O.
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28. In how many ways can the letters of 31. Let o, y be the rootz of
the word ‘GARDEN’ be arranged so Ax? -4x41=0 and P, § be the
that in each word the vowels should roots of Bx? —6x+1=0. o, [, v, &

appear in alphabetical order?
el in alpha are in HP, then what are the values

fa) 120 of A and B respectively?
B} 240 fa} 3, 8
fe] 360 k) -3, -8
fd} 480 fe 3,-8
s fd) -3, 8

Veix:x+2=0} 32. Under which one of the follawing
Reix:x® +2x=Q) conditions does the system of
S=fx:x? +x-2a0 eq?amns

kx+y+z=k-=1
then for what value of x, V= R=57

x+ky+z=Fk=1

{a} ©
E+iyrhkzmk-1
b -1
have no solution?
fe) -2
@ 1 fa) k=1

b k=-2
30. Out of a group of 20 teachers in
a schoel, 10 teach Mathematics, fe} k=1lork=-2
9 teach Physics and 7 teach

Chemistry. 4 teach both Mathe- tal k=%

matics and Physics, but none teach

both Mathematics and Chemistry. 23. If the sides of a trangle are 6 om,
What 1z the number of teachers who 10 ¢cm and 14 em, then what is the
teach both Chemistry and Physics? largest angle included by the sides?

fa} 1 fa) 90°

ik 2 (b} 120¢

i) 3 fe) 135

(d) 4 {d} 150° .

O-0EBA-J-N/1A 10
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28. ‘GARDEN’ T= % 3yl =i et vwn @ 31. A o 5 =iFm ac? —4x+1=0
o o mwa 3, ofF Rw v A =0 % g w, y ® 3R wiem
w1 fomrm sgumE (wEEiEe) ST Bx? -6x+1=0 % qmm B, 5 &1 =R
Fa a By, 5 S Ao §E, @ A ol B
@l 130 ¥ A wAm: 4 AT
b} 240 faj 3, B
(e} 360 b} -3, -8
fd} 480 f) 3,-8

fd} =3, 8

20, If '

V={x:x+2=0} : 32. Fisfeftn wfemdl 4 & e =  anim
R={x:x? 42x =0} Wi for

Sw{x:x=+x—3=ﬁ} kx+y+z=k-1

LAdxsRmERLVvaR=-852 x+ky+zmk-1
il o x+y+hke=k-1
o) -1 w1 & oft e ol 27
o -2 @) k=1

fd) 1 b k»-2

fo k=13mk=-2

30, R wammen § 20 Pl & owg 4 @ id) k=-=2
10 7t v &, o Wt @ ¥ sl
7 T 9 21 4 Tivm ¥ e 2
T &, vog i i e 26 A R 33. f uw i At q=d 6 em, 10 cm 3T

T v 18 el 6 wem T g, W@ 14 cm &, 7 gt & di w e a
e # iR 2 T E i A7
fa) 1 fa) 90
B 2 fbj 1200
fe} 3 el 135°
d 4 fd} 150°

O-OEBA-J-N/1A 11 [P.T. O
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34. If X and ¥ are any two non-empty 340
sets, then what is (X - ¥)’ equal to? : 37. Consider a matrix M={2 1 0
e 31k
= and the following statements :
B X AY Statement A : Inverse of M exists.
Statement B: k=0
el X'u¥
Which one of the following in
f i d
(@ X-v respect of the above matrix am

statements ia correct?

A implies but B dees not
35. For finding the arca of a triangle ) e B

: imply A
ABC, which of the following entities R,
are required? (b} B implies A, but A does not
imply B

fal Angles A, B and side a
fg/ HNeither 4 implies B nor B

b} Angles A, B and side b implies A
fc) Angles A, B and aide ¢ fdl A implies B as well as B
implies A

{d) Either faj or fb) or (g
38, If2¥+3¥=17 and 2**2 _g¥+l _ 5

12 a o then what is the value of x?
36. Let AE[S 4] and E=[“ b:|'
fal 3
where o, b are natural numbers,
then which one of the following is b 2
correct?
fe] 1

fa) There exist mere than one but

finite number of 8 such that a0
AB = BA
39. If P(32 6 =kC(32 6, then what is
{b) There exists exactly one Bsuch the value of k?
that AR = BA
fal &
{} There exist infinitely many Bs B 32
such that AB= B4
fe] 120
fd) There cannot exist any B
such that AB= BA fel} 720

O-0EBA-J-Nf1A 12




34, aft x o v F% & oifie wg=w &, W
(X—¥) % gra 7 &Y

fa) X'-Y*
B X AY
&) X'wy

(d X-v

35. uF fiye ABC =1 fad Y W & fam

Preiorig o # w-wn s
fa) ﬂ‘ﬂTA,.Haﬂ‘{ﬂiﬁa
fb) @®m A, BTG b
fe] Fow A, Bl QA e

fdj W fa) FEE (b) FEE (o)

12
a6 WA wfim s A=[34] afn

0 b
Frefirfm # & w-m o b

B=|? °| i o b m e &, @
oo

fa) TH § afirs g witfim wEm ¥ 4
B Attt e e AB= BA

b wem: W ouw @ B oW wfew R
Faus fom AR = Ba

() ¥Fwa: T B % wem § s
fe AB = BA

{d) R Bt B ufSre o 8 wwa
fork i AB = BA

O-OEBA-J-N/f1A
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37. SEE

oo

3 4
M={2 1
ai

v frefaia wue w faam il .
w0 A MF wfeha = @ b
FTEB ke

TF A s T ¥ ol d
Pt # & =-m v wh ¥

fa} A, B B svofm = R, feg

B, A® T

bl B, A ® FwiEw ww ¥, g
A, B T

fe) T A, B v s ¥ s T
# B, A%

{d) A, B 9oy wm ¢ ofm v @
B, AW

38. aff 2% L ab =17 s gxtE_girl o g

¥, A x5 wE o BT
fa) 3
b 2
fet 1
fd) ©

30, 7R PlAZ gl =kCi3z g &, o kW U9

= 1
fal
b 32
fcl 120
[ 720

|P.T. 0.




40. What is (vF + i) J{1+ /3] equal to?
fa 1+i
B 1-i
fe) E-d/2
d] W3-i)/2

41. What iz the binary equivalent of
decimal number (0- 812547

fa} (0-1101),
fb) (01001},
fgl (01117,
{d (0-1011),

¥y X y+=

42, If |z y x+yl=0, then which one
X 2 Ztx

of the following is correct?
fa) Either x+y=zor x=y
fbj Either x+y=-zor x=2
fc} Either x+z=yorz=y

fd) Either z+y=xor x= y

43, What is the value of k if
k b+e b?se?
k cta c?+a?|=ja-bjb-dic-a?
k a+b o?+b?
fa} 1
{b) -1
fol 2
idi ©

O=-0EBA-J-NJ1A
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44. What is the number of proper
subsets of a given finite set with
n elements?

@ 2n-1
b} 2n-2
el 2" -1
fdj 2" -2

48. If (x+a) is a factor of both the
quadratic polynomials x2 & preg
and x? + ¢ + m, where p, g land m

are constants, then which one of
the following is correct?

faj a={m-gl/{l-p} [+p)
fb) a={m+qg)/{l+p) {2-p)
e} L=im-g)/la—p) [a= p)

fd} p={m-g}/la-1] fa=l)

46. If A, B and C are three finite sets,
then what is [{Aw B}~ C]" equal to?

(o) A"UE AC
bl A'mB'nC
fel A'nBwC
gl AmBAC
47. What iz the value of tan(=1575%}7
fa} 1
B 1/2
fe] O
i -1




40. (3 +1) {1+ 31) & gen o #7
fa) 1+i
(b) 1-i
(e} 3(1-i)/2
fd) W3=-i)/2

41. TNOTE TEA (0-8125),, ¥ Timad
aea = 87
f=) (0-1101,
i) {0-1001),
el 10-1111),
{df [0-1011),

42. of
Y X y+z
2y x+y=0
X E E+X
1, ot Prfifrs 3 2 - oF w87

fa) MA x+y=zRFTM x=y
fb) MAx+y=-zF M x=x
ic) Wﬁlx+s=yME=y
{d) 'q.'r'fﬁz+y=xm:-y

43, T

bk bt b?ap?

k c+a c2+al=fa-Bib-dic-a)
k a+b a®+b?

@ kmom o B

fa) 1

b =1

fe) 2

fd} ©

O-0OEBA-J-N/1A 15
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44, % 2l T n sl O wifE e %
e avwerdt £ dEn w7
faj 2n-1
b 2n-2
@ 2" -1
@ 2" -2

45, 4% x? + px+g 3 x2 +bcem, TE
g g L3 mam §, @ REm

aME T PAEE (x+q) B, @
Prefifiaa & & F-m v odl ¥7

faj a=[m-q)fit-p {{=p)
b} a={m+g)/i+p] (2-p)
fe) l=im-g)/la-p) a=p)

fdl p=im-=g]fla=1j {a#l)

46. R A, B ¥in C @ wfifim e £, @
[lA v B)~C)’ % gr9 = &7

fa) A"UB AC
(b)] A'AB AC
feJ A'mnBwC

fd) AnBnC

47. tan{- 1575° % 97 ¥ §7
fa] 1
fb) 172
fe] ©
fd =1

[P.T. 0.




48. For which acute angle 8

cosec? 8= 3 Tcotd - 57

faj Snji12
ib) m/3
fcl nf6

fd} =/4

49, If tan®@=2tan? p+1, then which
one of the following is correct?

fa) cos(28) = cos2g) - 1
B cos[28) = cosf2y) + 1
{c) cos{28) = [cosi2q)- 1] /2

fdl cos(28) = [cos(2q)+ 1) /2

50. Which one of the following is correct
in respect of the matrix

g 0 =1
A=y 0 -1 07
=1 O 0O

fal A™! does not exist
b A={-1I
fc) Ais a unit matrix

fd) A% =]

O-0OEBA-J-N/1A
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§1. The formula

sin~ {2l - %)} = 2gin~} ¥

is true for all values of x lying in the
nterval

fal [-1 1]
B 16 1]
el -1 0]

fd) [-1/42, 1/43)

52. What is the value of
1-sin 10” 8in 50° 5in 70" ?
fal 1/8
fbj 3/8
fe) 5/8
) 7/8

§3. The sines of two angles of a triangle
are equal to 5/13 and 99/101.
What iz the cosine of the third
angle?
fm} 2551313
B 265/1313
fef 27571313

fd} TT0/1313




48. =HE-
cuﬁmz 8= 3/3coth - 5%?

fa) 5mfl12
o) n/3
) nf6

d nf4

49. 3R  tan®B=2tanp+1 F @

Frfafiag 8 & =9-m uF 94 87
fa} cos(28) = cos 2y - 1

(b) cos(26) = cosf2y) + 1

f¢) cos(2f) = [cos2g)~1] /2

{d) cos{28) = [cos2y+ 1] /2

& for Profsfira 3 2 9o o ad ¥
fa) A~ = wiems Al R

fb) A=

fe} ATE TEF MR R

fdl A%=r

E R T .

51, frm wa0e & x % wdi wel & for

sin™' {2x(1-x?)) = 2sin”" x w27

@ [-11)
®) [0 1)
e -1 0]
@ [-1/v3 1/43]

52. 1-sgin10° sin 50° sin 70° #1 W #0 #7

fa) 1/8

b} 3/8

e 5/8

id) 7/8

53. T% fingw % 2 Sl # sines, 5713 3

99/101 & 7=4 £1 W ®M F cosine
w0 27

fa) 255/1313
(b) 26571313

fg 27571313

(d 77071313
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54. After subtending an angle of 1000° 58, If
from its initial ‘position, the 2 1-p2
revolving line will be situated in ain"[———] -ma“[ =
which oene of the following L l+b
guadrants? Hmn_;( x ]
fa) First quadrant 1-x2

{b} Second quadrant
fc)  Third quadrant

then what is the value of x ?

fd) Fourth quadrant iyl
{B) ab
85. One radian is approximately equal to
which cne of the following? fe} bla
fa) ©O" (el a-h
B 180° 1+ ab
il 57"

59. x=5inb cozb and y=sink+cosh

fdj 47° are satisfied by which one of the
following equaticns?
56. If )
cotlx+i)=1/+3 fa) y°-2x=1
cot{x=1) =3 g
it ) y?+2x=1
then what are the smallest positive
values of x and y respectively? e} y*-2x=-1
{a) 45°, 30° )
{d} +2x=-1
(b} 30°, 45 ¥
15°, 60®
(el : 60. A man observes the elevation of a
fd) 45%, 15° balloon to be 30° He then walks
1 km towards the balloon and finds
57. If sinA=1/45, cos B=3/41C; A B that the elevation is 60°, What is
being positive acute angles, then the height of the balloon?
what is (A + B} equal ta?
fal 1/2 km
faj m/6
) w4 B 3 /2 km
fe) mf3 fel 1/3 km
fd} /2 fd) 1 km
O=-0OEBA-J-Nf1A 18
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54, us wfiEmm wt TE e e R 58, 7
# 1000° =1 S0 a=hG S0 F 9EmW,

frefafom 4 @ 9 = ag-qfﬂ ] Ein'l[ 20 )—Cﬂa_]{l-bz]

feem Bpil? Lber® L1482

fa) HHH S =m_1[ 2 ]

fb) ﬁfﬂ“aﬂﬂfﬂ 1- x2

fe) it =i §, Tt W w22

fd) =g =gata A
55. t% o Rofefm 4 4 e ww & (b ab

T wwe § o bla

o) B0° i -

by 180° 1+ab

fe} 57°

Hy 59. x=sinfBcosd M y=sind+cosh
55, afE wmﬁﬁmﬁﬁw

' ?

cotfx+1f = 1/+3 .

cot{x=11=43

8, @ x oy F TR S W R T ®) y* +2x=1

=0 87 el y?-2x=-1

fa) 45°, 30°

) 30°, 450 fd y* +2x=-1

fe} 152, 60° _

fe] 45, 15° 60, T =E wE = W oIEam 300 G

o 81 e =w st A s 1 km ST

57. 4 sinA=1/45, cosB=3//10 3l e ¥, A e W I 60° g

A, Bumioh A wm §, R A+ B F i ) Sk Rt

ey w27 .

fa} =/6 o2

® n/a B <=2

fel w3 fe] 13 km

fd) =j2 {dj 1 km

O-0EBA=J-Nf1A 19 I [ F.T O




61. If ain? x-cos® x=p, then which 65. What is the value of

one of the following is correct? cos 10+ cos 1 107+ cos 1307 2
fa) p=1 fal -1
() p=0 (b} 0
e Ipi>1 fel 3
@ Ipls @ 2
62. If cos® <sin® and 8 lies in the first 66. If %=1+x+y+m and yi-1=0,

quadrant, then which one of the

fallooing i Buereetd then what is yix} equal to?

fa} D<B<m /4 only (a) EF'_‘;_":;_I

b mj4<Ban/z [I-_xlg.

fe) D<Ben/3 ikl e 2

fd} n/3<B<mn/2 fe} Infl+x)-1
' fd) Infl-x)

63. The angle of clevation from a point
on the bank of a river of the top of a
temple on the other bank is 45°,
Retreating 50 m, the observer finds

67. What ig the value of J':“r 2 |n(tan xidx ?

the new angle of elevation as 30° o ¥
What is the width of the river? =] |
fa] 50 m fef -1
B 503 m fdj =/4
50 3 =1
fc) /N3-)m 68. What is Jf..a.n: xsec? x de equal to?
(d) 100 m
sec” x  sec” x
=1 + +c
64 If sin®xusiify=1 then what 3 ;
is the value of cotix + i ? tan®x  tan? x
(bl ——+——+c
fal 1 5 3
5 3
fbj \Irﬁ (C_.j tan” x +35’C X o
5 3
4]
(e ) se-cs.::*t.a.u:’_x+
(d) 1/43 5 3

O-0EBA-J-N/f1A 20
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61. I sin* x-cost x = p B, W Ffeiem 65. cos10’+cos110%+cos 130" T WA
3 Fh-w o vl &
fa) p=1 :::: ;1
i} p=0
fe] 1
el lpl=1 @ 2
d |plsl

! Eﬁ.ﬂﬁ%=]+x+y+w3ﬂ?y‘-u=ﬂiq
62, M cosb < sind 3R o T wgafn § B,

o P 3§ 8 #-w o w37 Tyl g A

fa) FER0<B<n/4 @ Eh+;}2-1

b} mfd=Bam/2 -

fo} Q=8<n/3 b e 2

fd) mf3cbens2 ; fe) Infl+xj-1
(d} In{l- x)

63, fRfl WS mE A mm
fam vF wE2 ¥ fine @1 T S 45 67. [ %initan xide 51 79 w1 17
2 50m M@ T w Auw R I

Hm 30° T ¥ T A e am e faj O
@ 50 (B 1
m
c0/3 et -1
i e fd) mj4
fef S0/W3-Hm
I{!# 100 m ) 68, J'tanzxm“xdxiagﬁmg?
sec® x  meed x
64. TR sin? x+sin® y=1%, A cotfx+y) ol 5 &
H AH 1 ET & tanf’x‘ftan?‘x_rc
5 3
fal 1
5 3
) 43 ' fel 151'15I+5:c3x+c
feg O
@ stx s
(d) 1/43 5 3

O-0OEBA-J-N/1A 21 [B.T. O
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69. What is

. gin? ax
lim

x—s0  bx

(&, b are constants} equal to?
fa) O

B afb

el a? /b

fd} Does not exist

If  fij=tanx+e™* =7x3,  then
what is the value of 907

fa) -2
B -1
g 0
fd) 3

71. What are the degree and order

respectively of differential equation
of the family of rectangular
hyperbolas whose axes of symmetry
are the coordinate axes?

faj 1,1
m 1,2
fe) 2,1
fdl 2,2

72. The function f{x) = x? - 2x increases

for all

fal x=-1

(B) x<-1only
fel x=1 only

| z=<1

O-0EEA-J-N/1A

73, What is

[y xt1- 2" dx

equal to?

1
fijr + 1)

1
o+ Y+ 2)

fa}

B

fe) 1
4] o

T4, Let o and b be two distinet roats of a

polynomial equation f(x) = 0. Then
there exists at least one root lying
between a and b of the polynomial
equation

fal flx=0

bl fig=0

fe] frixi=0

{d) None of the abave

T86. If 3% +3¥ = 3**¥_ then what is %

equal to?

31+5r - 3-1'

=

3*HaY -

(s Y

a% 4 av

i 3* - av

3% 4 3¥

{d) i3y




69. lim sin;a.x (@ b ¥R %) ¥ 7o 73, J;x{l-x]”dx%ﬂ?ﬂ‘ﬂ'[t?

x—0
7
1 7 (al 1
i+ 1}

fa} O

M a/b T
L n+lin+d
fct a® b
(d) e @ b )
(d ©

70, 3R flxi=tanx+e -7 3, @

" P
LIS TGy 74, w4 e & apw wim flg-0F 3

fa) -2 fa 03 a ofr b &, & Frefefon & &

® -1 fibg s qgTm W W w-E-E T
¥A, a s b % o formm &7

fe) 0

=0
@l 3 fa} fix)

b fix=0
71. wowrE wfoeet, s ik e & fe) f"(x)=0

e A §, % 70 9 amws wiwm fe) Tude & & e of
=1 98 30 S Fwm: W= E

@ 1,1 75. AR 3% 43V =354 §, D W & qom

il Y T 27
fcj 2,1 any_ax
[ 2,2 (@ 3y

72. %A flx)=x? -ax R FM {b) %
fa) B x = 1% B
3% +3¥
fb) Faw Wl x < -1 % T fel 3% _3¥
el FEmoedt x> 1% B _ " 3% 4 3
fd) Tt x = 1 oW 143%% 4

O-OEBA-J-N/1A
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T6. What is _rsecx“:ix equal to?
fa) Injsecx®+tanx®)+¢

7 Intan [E+ 5]
4 2

{bj 7 TR

180 Intan (ﬂ + 5)
33

ic} —n——+r.'

180 1ntan[3'f +£J
@ 4”360/,

"

T7. The profit funeton, in rupees, of a

firm selling x items (x z O} per week
is given by P(x] = -3500 + (400 - x)x.
How many items should the firm
sell so that the firm has maximum
profit?

fa] 400
b} 300
fef 200
) 100
78. A stone thrown vertically upward

satisfies the equation s=64¢t- 162,

where = is in meter and ¢ is in
second. What is the time required
to reach the maxdimum height?

fal 1s
fbl 2s
fe} 3s

fd 48

O0-0EBA-J-N/1A

T I fix)=3x? 4+ 6x -9, then

faj fix} is increasing in (-1, 3)

- b} Flx) is decreasing in {3, =)

fe)  flx) is increasing in -, = 1)

fdi  flx) iz decreasing in (~e, - 1)
80. If f(x)=sin® x?, then what is f'[x)

equal to?

fal 4xsin(x?)cos (x2)

=1 2sin1r2]mtx2}

(el 4sin{x?)sin? x

{d} ﬂxcusz{xz]

8l. f fix)=cosx, gld=Inx and
y={(g= flix), then what is the

dy
value of =< at x =07
o 4]

fa) 0
B 1
fel -1
fd) 2

82, If
o 3x-4, O=x=<2
ﬂx_‘zxif?., 2<xs3

is continuous at x = 2, then what is
the value of A 7

fa) 1
b -1
el 2
i -2




WWW .

76. [secx®dx % gFd 0 ¥7
fa} In{secx"+tanx")+c

®ln E+f]
.1,

wy - AR

+
180 :

180 In §+£]
g ——2 224,

i
1anmm{£‘+—“"_]
(d) n4 360 9

77. x 7 (xz 0 W TEE FEw e TE
wh gfiEE w1 eewew, Wl #,
Plx} = =3500+400-x)x g0
amn &1 wfwm Fr e agait W feea
w1 =i, wis 30 it am e
fa)
b}
fe) 200

)

400
300

100

TB. TF Towl, ¥ weahyw S s F
AT Y, T 5 = 64t - 1662 =, =
s "ier & i ¢ dave d B, aee W b
sfws S o wf=t & fom fe
oW =t
fa}
bl 2s
fog 3s

fd} 4s

ls

O-OEBA-J-NJ1A
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79, AE flx)=3x? +6x-9%, A

fa) fixj oM ¥ -, §F
(b} fi(x) T B (3, =) T
fe) fix) A R oo, -1 F
fd) fix) WA & (s, - 1) H

80. AR fixj=sin? x? B, M ) F w0
w BY
fa) 4xsinjx?jcos(x?}
(Bl 2sin(x?)cos(x?)
fc) 4sin(x?)sin? x

fed}

ExmsnthF

81. TR  flxj=cosx, glx=Inx %
y=(g=f)ix) %, A x=0 = % &1
wm F A7
fa) O
b 1
fe) -1
fd 2

g2, uf2

3x-4, D=sxs52

”"‘]'=[2x+:-., 2<x53

x=2W HEd B, 4 A AW R

fal 1
B -1
fet 2
faf -2

{B.T.0.




83. If xcosd+ ysin® = 2 is perpendicular
to the line x - y=3, then what is
one of the values of 87

fa] =/6
(B} =j4
fed =2
fdl =f3

B84, If x-axis is tangent to the circle

x2+y2+2§x+2_fy+k-=ﬂ, then

which one of the following is
correct?

fal g =k
B) g*=f
&) fi=k
(d} f*=g

85. What is the sum of focal radii of any

point on an ellipse equal to?

ja} Length of latus rectum

{h) Length of major axis

fcj Length of minor axis

fd) Length of semi-latus rectium

86. What does an equation of the first

degree containing one arbitrary
parameter passing through a fixed
point represent?

{a) Cirele
(b) Straight line
e} Parabola

(d] Ellipse

O-O0EBA-T-N/1A

87. What is the foot of the perpendicular

from the point (2, 3) on the line
x+y-11=07?

fa) {1, 10)
B (5 6)
fc) (6, 5)
faj (7, 4

88. Congider the following statements :

1. The equation to a straight line
parallel to the axis of x is y = d,
where d is a constant.

2. The equation to the axis of x is
x =0

Which of the statements given
above isfare correct?

fa) 1 only

b 2 only

{c} Both 1 and 2
fd) MNeither 1 nor 2

89. What is the angle between the planes

x-y+z=0Oand x+y+2z=37
fa) m /2
foi nf3
fe} w4
fdj mn/6

90. What is the eguation of a plane

through the x-axis and passing
through the point (1, 2, 3) 7

fa] x+y+z=6
B x=1

fo) y+z=5
df z+y=1
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83. TR xcosd+ ysind =2 %@ x- y=3W
& &, 9 6% T T a i

fa} n/6
b nj4
fe} = /2
fdi /3

84, R x-2m, 79

x? +y? +2gx +2fy+k =0

sarkariresults.

87. M3 (2,3) A @ x4+ y-11=0W 75

=1 i 33 }7
fef (1,10
& (5, 6)
el (5 3)
d 7, 4

ge. Fofafim v w e $ifm .

# wvi-tan #, @ fefefes @ -

o wEl B7

fa} g* =k
) g*=f
e} 2=k
(d) f2=g

85. T “rign w el frg A wfa Bemsd

w1 g e geg 27
fa) T A =y
) i iy e
(o] T e Ft TG
() d-mfirerey e

1. ¥4 F @R W@ oW
weftwm y = J ¥, Tl o OF IR

2. x-31g W W k= 0§
I 3 @ wh-m /R el e
fa) A 1

) w2

fe} 1 3t 2 a9t

{d} A1 a2

89. TS 2x-y+z=6 3N Xx+y+dz=3

86. U fima firg & T g % S0 WS

e WEH WA W g T el

= Bt
(a) T
(b) & Y
fel TEEE

(d) i

O-0EBA-J-N/1A

27

& ot =1 =iw 797 B7
fa] m/2
B n/3
fei m/f4
fd) nf6

90. x-3 # 3 fkg (1, 2, 3) & T T

A 1 g = 2
fa) x+y+z=6

B x=1

fel y+z=35

fd) z+y=1

[P.T.O.
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